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Abstract

This is the remaining ODEs of the Kamke test suite as published by E.
S. Cheb-Terrab[1l]. They have been rewritten using Axiom syntax. Where
possible we show that the particular solution actually satisfies the original
ordinary differential equation.

Note that after a certain point Axiom can no longer generate useful
results. The failures fall into several cases which have been included in
other regression test files.
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1 Generated results



1 Generated results

()=
)spool kamke7.output
)set break resume
)set mes auto off
)Jclear all

--S 1 of 97
y:=operator ’y

--R Type: BasicOperator
--E 1

--8 2 of 97
f:=operator ’f

--R Type: BasicOperator
--E 2

--S 3 of 97
g:=operator ’g

--R Type: BasicOperator
--E 3

--S 4 of 97
h:=operator ’h

--R Type: BasicOperator
--E 4

--S 5 of 97
fa:=operator ’fa

--R Type: BasicOperator



--E5

--S 6 of 97
fb:=operator ’fb

--E 6

-=8 7 of 97
fc:=operator ’fc

--E 7

--S 8 of 97
fd:=operator ’fd

--E 8

-=S 9 of 97
fe:=operator ’fe

--E 9
--S 10 of 97

ff:=operator ’ff

--R  (10) f£f
--R
--E 10

--5 11 of 97

Type:

Type:

Type:

Type:

Type:

BasicOperator

BasicOperator

BasicOperator

BasicOperator

BasicOperator

0de352 := D(y(x),x)*(cos(y(x))-sin(alpha)*sin(x))*cos(y(x))+(cos(x)-_

sin(alpha)*sin(y(x)))*cos(x)

--R



--R
--R (11)

--R 2 ,

--R (cos(y(x)) - sin(alpha)sin(x)cos(y(x)))y (x) - cos(x)sin(alpha)sin(y(x))

--R Type: Expression Integer
--E 11

--S 12 of 97
yx:=solve(ode352,y,x)

--R Type: Union(Expression Integer,...)

--S 13 of 97
ode352expr := D(yx,x)*(cos(yx)-sin(alpha)*sin(x))*cos(yx)+(cos(x)-_
sin(alpha)*sin(yx))*cos(x)

--R  (13)

--R 2cos(x)sin(alpha)

--R sin

--R (cos(y(x)) - 2sin(alpha)sin(x))sin(y(x)) + cos(x)sin(x)

__R +
--R y(x) + x

--R 2 2 >
--R (- sin(y(x)) + cos(y(x)) - 2sin(alpha)sin(x)cos(y(x)) + Dy (x)

--R 2 2
--R - 2cos(x)sin(alpha)sin(y(x)) - sin(x) + cos(x) + 1

--R (cos(y(x)) - 2sin(alpha)sin(x))sin(y(x)) + cos(x)sin(x) + y(x) + x 2



--R 2 2
--R sin(alpha)sin(x)sin(y(x)) - sin(alpha)sin(x)cos(y(x))
__R +

--R 2 2

--R 2sin(alpha) sin(x) cos(y(x)) - sin(alpha)sin(x)

__R s
--R y (%)

--R 2 3
--R 2cos(x)sin(alpha) sin(x)sin(y(x)) + sin(alpha)sin(x)
__R +

--R 2

--R (- cos(x) - 1)sin(alpha)sin(x)

--R (cos(y(x)) - 2sin(alpha)sin(x))sin(y(x)) + cos(x)sin(x) + y(x) + x

--R 2cos(x)

--R Type: Expression Integer
--E 13

--S 14 of 97
0de353 := x*D(y(x),x)*cos(y(x))+sin(y(x))

__R s
--R (14) x cos(y(x))y (x) + sin(y(x))

--R Type: Expression Integer
--E 14

--S 15 of 97
yx:=solve(ode353,y,x)

--R  (15) x sin(y(x))
--R Type: Union(Expression Integer,...)
--E 15



--S 16 of 97
ode353expr := x*D(yx,x)*cos(yx)+sin(yx)

--R 2 ,
--R  (16) sin(x sin(y(x))) + (x cos(y(x))y (x) + x sin(y(x)))cos(x sin(y(x)))

--R Type: Expression Integer
--E 16

--S 17 of 97
ode354 := (x*sin(y(x))-1)*D(y(x),x)+cos(y(x))

--R (17) (x sin(y(x)) - Dy x) + cos(y(x))

--R Type: Expression Integer

--3 18 of 97
yx:=solve(ode354,y,x)

--R Type: Union(Expression Integer,...)

--5 19 of 97

ode354expr := (x*sin(yx)-1)*D(yx,x)+cos(yx)

--R

--R

--R (19)

--R 2 2 2,

--R ((x sin(y(x)) - x sin(y(x)) + x cos(y(x)) )y (x) - x cos(y(x)))

--R sin(y(x)) - x

--R cos(y(x))

R 2 sin(y(x)) - x
--R cos(y(x)) cos(-——--———-———- )



--R cos(y(x))

--R 2 2 .,
--R (sin(y(x)) - x sin(y(x)) + cos(y(x)) )y (x) - cos(y(x))

--R 2

--R cos(y(x))

--R Type: Expression Integer
--E 19

--S 20 of 97
0de355 := (x*cos(y(x))+cos(x))*D(y(x),x)-y(x)*sin(x)+sin(y(x))

--R  (20) (x cos(y(x)) + cos(x))y,(x) + sin(y(x)) - y(x)sin(x)

--R Type: Expression Integer

--S 21 of 97
yx:=solve(ode355,y,x)

--R (21) x sin(y(x)) + y(x)cos(x)
--R Type: Union(Expression Integer,...)
--E 21

--S 22 of 97
ode355expr := (x*cos(yx)+cos(x))*D(yx,x)-yx*sin(x)+sin(yx)

--R (22)

--R sin(x sin(y(x)) + y(x)cos(x))

__R +

--R 2 ,

--R ((x cos(y(x)) + x cos(x))y (x) + x sin(y(x)) - x y(x)sin(x))

--R cos(x sin(y(x)) + y(x)cos(x))

--R 2,
--R (x cos(x)cos(y(x)) + cos(x) )y (x) + (- x sin(x) + cos(x))sin(y(x))



--R - 2y(x)cos(x)sin(x)
--R Type: Expression Integer
--E 22

--8 23 of 97
0de356 := (x**2*cos(y(x))+2*xy(x)*sin(x))*D(y(x),x)+2*xx*sin(y(x))+y(x)**2*cos(x)

--R 2 s 2
--R  (23) (x cos(y(x)) + 2y(x)sin(x))y (x) + 2x sin(y(x)) + y(x) cos(x)

--R Type: Expression Integer
--E 23

--S 24 of 97
yx:=solve(ode356,y,x)

--R 2 2

--R  (24) x sin(y(x)) + y(x) sin(x)

--R Type: Union(Expression Integer,...)
--E 24

--S 25 of 97
ode356expr:=(x**2*cos (yx)+2*xyx*sin(x) ) *D (yx,x) +2*x*sin (yx) +yx**2*cos (x)

--R (25)

--R 2 2

--R 2x sin(x sin(y(x)) + y(x) sin(x))

__R +

--R 4 2 , 3 2 2

--R ((x cos(y(x)) + 2x y(x)sin(x))y (x) + 2x sin(y(x)) + x y(x) cos(x))

--R 2 2
--R cos(x sin(y(x)) + y(x) sin(x))

--R 4 2 2

--R (2x sin(x)cos(y(x)) + 4x y(x)sin(x) )sin(y(x))
__R +

--R 2 2 2 3 3

--R 2x y(x) sin(x) cos(y(x)) + 4y(x) sin(x)

__R s
--R y (%)



--R 3 4 2

--R (4x sin(x) + x cos(x))sin(y(x))

__R +

--R 2 2 2 2 4 2
--R (4x y(x) sin(x) + 4x y(x) cos(x)sin(x))sin(y(x)) + 3y(x) cos(x)sin(x)
--R Type: Expression Integer
--E 25

--S 26 of 97
0de358 := D(y(x),x)*sin(y(x))*cos(x)+cos(y(x))*sin(x)

__R s
--R  (26) cos(x)sin(y(x))y (x) + sin(x)cos(y(x))

--R Type: Expression Integer
--E 26

--S 27 of 97
yx:=solve(ode358,y,x)

--R  (27) - cos(x)cos(y(x))
--R Type: Union(Expression Integer,...)
--E 27

--S 28 of 97
ode358expr := D(yx,x)*sin(yx)*cos(x)+cos(yx)*sin(x)

--R (28)
--R 2 ,
--R (- cos(x) sin(y(x))y (x) - cos(x)sin(x)cos(y(x)))sin(cos(x)cos(y(x)))

__R +

--R sin(x)cos(cos(x)cos(y(x)))

--R Type: Expression Integer
--E 28

-=S 29 of 97

ode361 := (x*sin(x*y(x))+cos(x+y(x))-sin(y(x)))*D(y(x),x)+_
y (x)*sin (x*y(x))+cos (x+y (x) ) +cos (x)

--R

--R

10



--R  (29)
__R s
--R (x sin(x y(x)) - sin(y(x)) + cos(y(x) + x))y (x) + y(X)sin(x y(x))

--R cos(y(x) + x) + cos(x)
--R Type: Expression Integer
--E 29

--S 30 of 97

yx:=solve(ode361,y,x)

--R

--R

--R (30)

--R y(x) 2 y(x) y(x)

--R 2cos(----) sin(y(x) + x) - 2cos(-——-)cos(y(x) + x)sin(----) - cos(x y(x))
--R 2 2 2

__R +

--R cos(y(x))

--R Type: Union(Expression Integer,...)
--E 30

--5 31 of 97
ode36lexpr:=(x*sin(x*yx)+cos(x+yx)-sin(yx))*D(yx,x)+_
yx*sin(x*yx)+cos (x+yx)+cos(x)

--R  (31)

--R 2 y(x) 2
--R x sin(x y(x)) - x sin(y(x)) + x cos(y(x) + x)sin(----)
--R 2

--R y(x) 2

--R x cos(----) cos(y(x) + x)
--R 2

--R y (%)

--R y(x) y(x) y(x) 2
--R x y(x)sin(x y(x)) + (2x cos(----)sin(----) + 2cos(----) )sin(y(x) + x)
--R 2 2 2

--R y(x) y(x)
--R - 2cos(-——--)cos(y(x) + x)sin(----) - cos(x y(x))

11



2 2

+
y(x) 2
2x cos(----) cos(y(x) + x) + cos(y(x))
2
sin
y(x) 2 y(x) y(x)
2x cos(----) sin(y(x) + x) - 2x cos(-——-)cos(y(x) + x)sin(----)
2 2 2
+
- x cos(x y(x)) + x cos(y(x))
y(x) 2
- x sin(x y(x)) + sin(y(x)) - cos(y(x) + x)sin(----)
2
+
y(x) 2
- cos(-—--) cos(y(x) + x)
2
*
y (%)
+
y(x) y(x)
- y(x)sin(x y(x)) - 2cos(----)sin(----)sin(y(x) + x)
2 2
+
y(x) 2
- 2cos(----) cos(y(x) + x)
2
sin
y(x) 2 y (%) y(x)
2cos(----) sin(y(x) + x) - 2cos(-——-)cos(y(x) + x)sin(----)
2 2 2
+
- cos(x y(x)) + cos(y(x))
y(x) 2
x sin(x y(x)) - sin(y(x)) + cos(y(x) + x)sin(----)
2
+
y(x) 2
cos(----) cos(y(x) + x)

12



--R y (x)

--R y(x) y(x)
--R y(x)sin(x y(x)) + 2cos(----)sin(----)sin(y(x) + x)
--R 2 2

--R y(x) 2
--R 2cos(----) cos(y(x) + x) + 1
--R 2

--R cos

--R y(x) 2 y(x) y(x)
--R 2cos(----) sin(y(x) + x) - 2cos(-——-)cos(y(x) + x)sin(----)
--R 2 2 2

--R - cos(x y(x)) + cos(y(x)) + x

__R +

--R cos (x)

--R Type: Expression Integer
--E 31

--S 32 of 97
0de363 := (x*D(y(x),x)-y(x))*cos(y(x)/x)**2+x

--R yx) 2, y(x) 2

--R (32) x cos(-———-) y (x) - y(x)cos(----) + x

--R X X

--R Type: Expression Integer
--E 32

--S 33 of 97

yx:=solve(ode363,y,x)

--R y(x) y(x)
--R x cos(-—--)sin(----) + 2x log(x) + y(x)

--R Type: Union(Expression Integer,...)

13



--S 34 of 97
ode363expr := (x*D(yx,x)-yx)*cos(yx/x)**2+x

--R  (34)

--R y(x) 2 y(x) 2 , y(x) 2
--R (- x sin(----) + x cos(-——-) + x)y ) + yX)sin(----)
--R X X X

--R y(x) y(x) y(x) 2
--R - x cos(-—--)sin(----) - y(x)cos(----) - 2x log(x) - 2y(x) + 2x
--R X X X

--R y(x) y(x) 2
--R x cos(----)sin(----) + 2x log(x) + y(x)

--R Type: Expression Integer
--E 34

--S 35 of 97
0de364 := (y(x)*sin(y(x)/x)-x*cos(y(x)/x))*x*D(y(x),x)-_

(x*xcos (y(x) /x) +y (x) *sin(y (x) /x) ) *y (x)
--R
--R
--R  (35)
--R y(x) 2 yx) 2 y(x) y(x)
--R (x y(x)sin(----) - x cos(-—--))y (x) - y(x) sin(----) - x y(x)cos(----)
--R X X X X
--R Type: Expression Integer
--E 35

--S 36 of 97
yx:=solve(ode364,y,x)

--R

--R

--R y(x)
--R  (36) - x y(x)cos(-—--)

14



--R X
--R Type: Union(Expression Integer,...)
--E 36

--8 37 of 97
ode364expr := (yx*sin(yx/x)-x*cos(yx/x))*x*D(yx,x)-_
(xxcos (yx/x)+yx*sin(yx/x) ) *yx

--R (37

--R 2 2 y(x) y(x) 3 yx) 2,
--R (x y(x) cos(-—--)sin(-—--) - x y(x)cos(----) Dy (x)
--R X X X

--R 3 y(x) y(x)
--R - x y(x) cos(----)sin(----)
--R X X

--R y(x)
--R sin(y(x)cos(----))
--R X

--R 2 y(x) 3 y(x) , 2 y (%)
--R (- x y®)sin(----) + x cos(-—--))y (x) + x y(x) sin(----)
--R X X X

--R 2 y(x)
--R 2x y(x)cos(----)
--R X

--R y(x)

--R cos(y(x)cos(----))

--R X

--R Type: Expression Integer
--E 37

--8 38 of 97
ode434 := D(y(x),x)-1

R (38 y (0 -1

--R Type: Expression Integer

15



--S 39 of 97
ode434a:=solve(ode434,y,x)

--R

--R

--R (39) [particular= x,basis= [1]]
--RType: Union(Record(particular: Expression Integer,basis: List Expression Integer),.
--E 39

--S 40 of 97

yx:=ode434a.particular

--R  (40) x
--R Type: Expression Integer
--E 40

--8 41 of 97
ode434expr := D(yx,x)-1

--R  (41) 0

--R Type: Expression Integer
--E 41

--S 42 of 97

0de683 := (D(y(x),x) = y(x)*(-1+log(x*(x+1))*y(x)*x**4-1log(x* (x+1))*x**3) /x)

--R 4 2 3 2
--R s xyx) - xy&EDloglx + x) - yx)
--R (42) y (x)= ——————————————

--R Type: Equation Expression Integer
--E 42

--S 43 of 97
solve(0de683,y,x)

--R -xyx +1

--R x y\Ix + 1 e

16



--R Type: Union(Expression Integer,...)
--E 43

--S 44 of 97
0de703 := (D(y(x),x) = y(x)*(1-x+y(x)*x*x*2x1og(x)+y (x) *x**3-x*x1og(x) —x**2) /_
(x-1)/%)

--R 2 2 3 2 2
-—R  (44) y (x)= ——mmmmmm

--R X - X
--R Type: Equation Expression Integer
--E 44

--S 45 of 97
solve(ode703,y,x)

--R -xyx) +1

--R 2 - dilog(x) + x
--R (x - xyx%e
--R Type: Union(Expression Integer,...)

--S 46 of 97
0ode714 := (D(y(x),x) = -y(x)*(-log(1/x)+exp(x)+y(x)*x**2xLog(x)+_
y (x) *x**3-xx1og (x) —x**2) / (-log (1/x) +exp(x) ) /x)

--R (46)
--R 2 2 1 X 3 2 2
--R xyE) - xyEDlogx) - yx)log(-) + yX)%he + x yx) - x y&)

R x log(-) - x %e

--R X

--R Type: Equation Expression Integer
--E 46

--8 47 of 97

solve(ode714,y,x)
--R

17



--I 1 I 2
-1 x %I log(%I) + log(--) - %e + 4I
--I ++ %I

! ++ 1 %I
-1 %I log(-=) - %I %e
-1 I

--R y(x)%e

--R INTSIGN
__R ,

--I - %I log(%hI) - %I

-1 1 hI 2
--1 %I %I log(%I) + log(--) - %e + %I
-1 ++ %I

-1 ++ 1 VAN
--1 %I log(--) - %I %e
--I 1 %I %I

--R (log(--) - %he D%e

-1 %I

--I diI

--I 1 %I 2
--I x %I log(%I) + log(--) - %e + %I
--I ++ Y1

--I ++ 1 yAs

-1 %I log(—=) - %I %e

--I A

--R Type: Union(Expression Integer,...)

--S 48 of 97
0de719 := (D(y(x),x) = y(x)*(-exp(x)+log(2xx)*x**x2*y(x)-Llog(2*x)*x) /x/exp(x))

18



--R 2 2 b'e
--R , (x y&x) - x yx))log(2x) - y(x)%e
--R (48) y (x)= ————————————————

--R Type: Equation Expression Integer
--E 48

--S 49 of 97

solve(ode719,y,x)

--R -xyx) +1

--I X %I
--I ++ %I log(24I) + %e

--R y(x)%he
--R Type: Union(Expression Integer,...)
--E 49

--S 50 of 97

0de736 := (D(y(x),x) = (2*x**2+22kx+x**4-2%y (x) *x**2-1+y (x) **2) / (x+1))

--R 2 2 4 2
--R , y) -2xyx) +x +2x +2x -1
--R (50) y (x)= —————————————

--R Type: Equation Expression Integer
--E 50

--S 51 of 97
solve(ode736,y,x)

--R 2 4 3 2
--R (x +2x - 2)y) - x -2x +3x +2x+ 4

--R Type: Union(Expression Integer,...)
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--E 51
--S 52 of 97

0de765 := (D(y(x),x) = y(x)*(-1-log((x-1)*(1+x)/x)+_
log ((x-1)*(1+x) /x) *x*xy (%)) /x)

-k (62) y (x)= ——————————m—mmmmm o

--R Type: Equation Expression Integer
--E 52

--S 53 of 97
solve(ode765,y,x)

--R -xy) +1

--I ++ %I

--R y(x)he

--R Type: Union(Expression Integer,...)
--E 53

--S 54 of 97
0de766 := (D(y(x),x) = y(x)*(-log(x)-x*log((x-1)*(1+x)/x)+_
log ((x-1)*(1+x) /x) *x*x2%xy (x)) /x/1log(x))

—R 2 2 x -1
R - y(®Xlogx) + (x y(x) - x y(x))log(------ )

--R Type: Equation Expression Integer
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--S b5 of 97
solve(ode766,y,x)

--R (565)

--I »T -1

-1 ++ %I

--R y(x)%e

--I -1
--I ++ %I
-1 e d%I

-1 ++ %I log(%I)
-1 log(%hI)%e

--I » -1

--I ++ %I log(%I)

--R Type: Union(Expression Integer,...

--S 56 of 97
0de776 := (D(y(x),x) = y(x)*(-log(1/x)-log((x**2+1)/x)*x+_
log ((x*x2+1) /x) *x*x*2xy (x)) /x/log(1/x))
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--R (56) y (x)= ——=——————————mm

--R Type: Equation Expression Integer
--E 56

--S 57 of 97
solve(ode776,y,x)

--R -xy) +1

-1 %I + 1 1

-1 %I log(—-)

-1 %I

--R y(x)%e

--R Type: Union(Expression Integer,...)
--E 57

--S 58 of 97

0de872 := (D(y(x),x) = 1/5%(-30%y(x)*x**3+12%x**6+70%x** (7/2) -30*x**3-_
25*y (x) *x** (1/2) +50*x—-25*x** (1/2)-25) / _
(=5*y (x) +2*%x*x*3+10*x** (1/2) -5) /x)

--R 3 +-+ 3 6 3

--R , (- 25y(x) + 70x - 25)\|x - 30x y(x) + 12x - 30x + 50x - 25
—-R (B8) y (X)= ===
--R +-+ 4

--R 50x\Ix - 26x y(x) + 10x - 25x

--R Type: Equation Expression Integer
--E 58

--S 59 of 97
solve(0de872,y,x)

--R (59)
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--R =+ 3 -+ 2 3

--R 100log(\Ix ) + (100y(x) - 40x + 100)\|x - 25y(x) + (20x - 5O)y(x)
__R +

--R 6 3

--R - 4x + 20x - 100x

--R Type: Union(Expression Integer,...)
--E 59

--3 60 of 97
0deb55 := sqrt(D(y(x),x)**2+1)+x*D(y(x) ,x) -y (x)

--R  (60) ly (x) +1 +xy (x) - y&x)
--R \
--R Type: Expression Integer

--E 60

--3 61 of 97
solve(odeb55,y,x)

--R Type: Union(Expression Integer,...)
--E 61

--S 62 of 97
0deb57 := x*(sqrt(D(y(x),x)**2+1)+D(y(x) ,x))-y(x)

--R (62) x ly (x) +1 +zxy (x) - y&)
--R \
--R Type: Expression Integer
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--S 63 of 97
solve (odeb57,y,x)

-1 x W ly (WD +1 - yx)
--R o\

--I (63) | @ mmmmmmmmmmm—mm e d%I
--R ++ 2

--R Type: Union(Expression Integer,...)
--E 63

--S 64 of 97
0deb58 := axx*sqrt(D(y(x),x)**2+1)+x*D(y(x) ,x)-y(x)

R (64) axly (x) +1 +zxy x) - y&)

--R A\

--R Type: Expression Integer
--E 64

--S 65 of 97
solve(odeb58,y,x)

--R ++ N
-1 (65) | - anI
--R ++ 2

--R Type: Union(Expression Integer,...)
--E 65

--S 66 of 97
0deb62 := ax(D(y(x),x)**x3+1)*x(1/3)+b*x*D(y(x),x)-y(x)

--R (66) a3ly (x) +1+Dbzxy x) -y
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--R \|
--R Type: Expression Integer
--E 66

--S 67 of 97
solve(odeb562,y,x)

-1 log(%I) log (%I)

-1 x a %e 3ly GAD) + 1 - y(x)%e
--R ++ \

--R Type: Union(Expression Integer,...)
--E 67

--3 68 of 97
0de563 := log(D(y(x),x))+x*D(y(x),x)+a*xy(x)+b

--R (68) log(y,(x)) + Xy’(x) +ay +b

--R Type: Expression Integer
--E 68

--S 69 of 97
solve(odeb563,y,x)

--1 a log(%I) , a log(%I)

--I x he log(y (A1) + (a y(x) + D%e

--R ++

I (69) | e asI

-1 ++ %I

--R Type: Union(Expression Integer,...)
--E 69

-=3 70 of 97
0deb64 := log(D(y(x),x))+ax(xxD(y(x),x)-y(x))

--R  (70) log(y (x)) + a xy (x) - a y(x)

25



--R
--R Type: Expression Integer
--E 70

--S 71 of 97
solve(odeb564,y,x)

--I x log(y (%I)) - a y(x)

--R ++

-I (7D | il

--R ++ 2

--I %I

--R Type: Union(Expression Integer,...)
--E 71

-=S 72 of 97
0deb71 := axx**n*f (D(y(x),x))+x*D(y(x),x)-y(x)

--R n 3 s
R  (72) ax f(y (x)) + xy (x) - yx)

--R Type: Expression Integer
--E 72

--8 73 of 97
solve(odeb71,y,x)

--R n ,

--I x apl £y D)) - y&x

--R ++

-1 (73) |  mmmmmmmmmmmmmmmeeeo a%I
--R ++ 2

--R Type: Union(Expression Integer,...)
--E 73

--S 74 of 97
0deb73 := f(x*D(y(x),x)**2)+2*xx*D(y(x),x)-y(x)

--R 5 2 s
-—R  (74) fG&xy x) ) +2xy x) - y&x)
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--R
--R Type: Expression Integer
--E 74

--3 75 of 97
solve(ode573,y,x)

--R 2

--I x fAI y (KI) ) - yx)

--R ++

e S ¢ T B %I

--R ++ +-—+

--I KINI%I

--R Type: Union(Expression Integer,...)
--E 75

--8 76 of 97
0de683 := (D(y(x),x) = y(x)*(-1+log(x*(x+1))*y(x)*x**4-1log(x* (x+1))*x**3) /x)

--R 4 2 3 2
--R , (x y&x) - xyENDloglx + x) - yx)
--R (76) v (x)= ———————————mmm—

--R Type: Equation Expression Integer
--E 76

--8 77 of 97
solve(0de683,y,x)

--R -xyx) +1

--R x y@\Ix + 1 %e
--R Type: Union(Expression Integer,...)
--E 77

--8 78 of 97

0de703 := (D(y(x),x) = y(x)*(1-x+y(x)*x**2xLog(x)+y (x) *x**3-x*1og(x) -x**2) /_
(x-1)/%)

--R
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--R 2 2 3 2 2
--R , (x yx) - xyENDlogx) +xyx) + (-x -x+ Dyx)
--R (78) y (x)= —==————————

--R X - X
--R Type: Equation Expression Integer
--E 78

--S 79 of 97
solve(ode703,y,x)

--R -xyx +1

--R 2 - dilog(x) + x
--R (x - x)y)%e
--R Type: Union(Expression Integer,...)

--5 80 of 97
ode714 := (D(y(x),x) = -y(x)*(-log(1l/x)+exp(x)+y(x)*x**2xLog(x)+_
y (%) *x*x*3-x*1og (x) —x**2) / (-log(1/x) +exp(x)) /x)

--R (80)
--R 2 2 1 X 3 2 2
--R (x y&x) - xyENDlogx) - y(x)log(-) + yx)%he + x yx) - x y&x)

--R x log(-) - x %e

--R X

--R Type: Equation Expression Integer
--E 80

--S 81 of 97
solve(ode714,y,x)

--R (81)

__R -

-1 1 YA 2
-1 x %I log(%I) + log(--) - %e + %I
--I ++ %I



--I ++ 1 A
-I %I log(-=) - %I %e
! YA

--R y(x)%e

--R INTSIGN
__R ,

-1 - %I log(hI) - %I

-1 1 A 2
--1 %I %I log(%I) + log(--) - %e + %I
-1 ++ %I

--I ++ 1 A
-1 %I log(—=) - %I %e
1 1 %I %I

--R (log(--) - %e e

-I yAs

--I anI

-1 1 %I 2
-1 x %I log(%I) + log(--) - %e + %I
--I ++ %I

-1 ++ 1 %I

-1 %I log(--) - %I %e

-1 YA

--R y(x)he

--R Type: Union(Expression Integer,...)
--E 81

--S 82 of 97
0de719 := (D(y(x),x) = y(x)*(-exp(x)+log(2xx)*x**2*y(x)-log(2*x)*x) /x/exp(x))

-k (82) y (x)= ——————————m——mmmm o

29



--R Type: Equation Expression Integer
--E 82

--S 83 of 97
solve(ode719,y,x)

--R -xyx +1

--I X %I
--I ++ %I log(2%I) + Ye

--R Type: Union(Expression Integer,...)
--E 83

--3S 84 of 97
0de736 := (D(y(x),x) = (2%x**2+2*x+x**4-2%y (x)*x*x*2-1+y(x)**2)/(x+1))

--R 2 2 4 2
--R , y) - 2xyx) +x +2x +2x -1
--R (84) y (x)= ——————————————m—

--R Type: Equation Expression Integer
--E 84

--S 85 of 97
solve(ode736,y,x)

--R 2 4 3 2
--R (x +2x - 2yEE) - x -2x +3x +2x+ 4

--R 2y(x) - 2x - 2
--R Type: Union(Expression Integer,...)

--S 86 of 97

0de765 := (D(y(x),x) = y(x)*(-1-log((x-1)*(1+x)/x)+_
log((x-1)*(1+x) /x) *x*y (%)) /x)

--R

--R
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--R 2 x -1
--R (x yx) - yx))log(---—-—-- ) - yx)

--R (86) y (x)= —————————————————

--R Type: Equation Expression Integer
--E 86

--S 87 of 97

solve(ode765,y,x)

--R -xyx +1

--R Type: Union(Expression Integer,...)
--E 87

--S 88 of 97

0de766 := (D(y(x),x) = y(x)*(-log(x)-x*log((x-1)*(1+x)/x)+_
log ((x-1)*(1+x) /x) *x*x2xy (x) ) /x/log(x))

--R 2 2 x -1
--R - yX)1log(x) + (x y(x) - x y(x))log(———--- )

--R (88) y (x)= ——=—————————mm

--R Type: Equation Expression Integer
--E 88

--S 89 of 97
solve(ode766,y,x)

--R  (89)
__R -
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ode776

% -1
x log(%I) + %I log(-——————- )
++ YAl
| dil
++ %I log(%I)
y(x)%e

-1

++ %I
| e %I
++ %I log(%hI)
log (%I %e

%I -1
x log(%I) + %I log(-——----- )
++ Y1

++ %I log(hI)

y(x)%e

Type: Union(Expression Integer,...)

= (D(y(x),x) = y(x)*(-log(1/x)-log((x**2+1) /x) *x+_

log ((x**x2+1) /x) *x**2*xy (x) ) /x/log(1/x))

2 2 x +1 1

(90) y (x)= —====mmmmmmmm

Type: Equation Expression Integer
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--E 90

--S 91 of 97
solve(ode776,y,x)

--R -xyx +1

— %I + 1 1

-1 ++ %I %I

--I %I log(--)

-1 %I

--R y(x)%e

--R Type: Union(Expression Integer,...)
--E 91

--S 92 of 97

0de872 := (D(y(x),x) = 1/5%(-30%y(x)*x**x3+12%x**6+70xx** (7/2) -30%x**3-_
25%y (x) *x** (1/2) +50*x-25*x** (1/2) —=25) / (=5*y (x) +2%x**3+_
10*x**(1/2)-5)/x)

--R 3 +-+ 3 6 3

--R , (- 26y(x) + 70x - 25)\|x - 30x y(x) + 12x - 30x + 50x - 25
-——R  (92) y (X)= ————mmmm o
--R +—+ 4

--R 50x\|x - 2bx y(x) + 10x - 25x

--R Type: Equation Expression Integer
--E 92

--S 93 of 97
solve(0de872,y,x)

--R  (93)

--R +—+ 3 +—+ 2 3

--R 100log(\Ix ) + (100y(x) - 40x + 100)\[x - 25y(x) + (20x - 50)y(x)
--R +

--R 6 3

--R - 4x + 20x - 100x
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--R Type: Union(Expression Integer,...)
--E 93

--S 94 of 97

0de956 := (D(y(x),x) = 1/(1+log(x))*y(x)*(-1-x**(2/(1+log(x)))*_
exp(2/ (1+log(x))*1og (x) **2) kxx*x*2-x** (2/ (1+log(x) ) ) *_
exp(2/ (1+log(x))*xLog(x) **2) *x**2xLog (x) +x** (2/ (1+1log(x) ) ) *_
exp(2/ (1+log(x))*xLog(x) **2) *x**2xy (x) +2xx** (2/ (1+1og(x) ) ) *_
exp(2/ (1+log(x) ) *1og (x) **2) *xx*2xy (x) *Log (x) +x** (2/ (1+log(x)) ) *
exp(2/ (1+log(x))*1og(x) **2) *xx*x*2xy (x) *Log (x) **2) /x)

--R (94)

--R vy )

--R 2 2 2 2 2 2 2 2 2
--R (x yx) log(x) + (2x y(x) - x y(x))log(x) + x y(x) - x y))

--R log(x) + 1 log(x) + 1
--R he X

--R -y

--R x log(x) + x

--R Type: Equation Expression Integer
--E 94

--S 95 of 97

solve(ode956,y,x)

--R - y(x)loglx) - y(x) + 1

--R y(x)%he log(x) + y(x)ie
--R Type: Union(Expression Integer,...)
--E 95

--S 96 of 97
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0de957 := (D(y(x),x) = 1/(1+log(x))*y(x)* (-1-x**3*xx** (2/(1+Llog(x)))*_
exp(2/(1+log(x))*Llog(x) **2) —x**3xx** (2/ (1+log(x) ) ) *_
exp(2/ (1+log(x) ) *log(x) **2) *Log (x) +x**3xx** (2/(1+log(x) ) ) *_
exp(2/ (1+log(x))*1og (x) **2) *y (x) +2*x**3xx** (2/(1+log(x) ) ) *_
exp(2/ (1+log(x))*1log(x) **2) *y (x) *1og (x) +x**3*x** (2/ (1+Llog(x)) ) *_
exp(2/ (1+log(x) ) *1log(x) **2) xy (x) *1og (x) **2) /x)

--R (96)

R 3y ()

--R 3 2 2 3 2 3 3 2 3
--R (x y(x) log(x) + (2x y(x) - x y(x))log(x) + x y(x) - x y(x))

--R log(x) + 1 log(x) + 1
--R he X

__R +

--R -y

--R x log(x) + x
--R Type: Equation Expression Integer
--E 96

--S 97 of 97
solve (0de957,y,x)

--R - y(xX)loglx) - y(x) + 1

--R y(x)he log(x) + y(x)ie

--R Type: Union(Expression Integer,...)
--E 97

) spool

)lisp (bye)
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